gF ? Qp k Multiplier les nombres décimaux par des puissances
L A de dix

Nom: Date: Note:
2.86 x 1000 = 3.522 x 100000 =
5.722 x 100000 = 9.658 x 1000000 =
5.941 x 1000 = 9.591 x 1000 =
10.1 x 10000 = 3.234 x 100000 =
4.764 < 1000000 = 4.259 x 1000000 =
5.794 x 1000000 = 4.076 x 1000000 =
3.271 x 1000 = 2.795 x 1000000 =
4.921 x 10000 = 1.135 x 10000 =
6.351 x 100 = 1.43 x 10 =
9.026 x 10 = 3.508 x 1000 =
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VPR

Multiplier les nombres décimaux par des puissances

de dix

Nom:

2.86 x 1000 = 2860

5.722 x 100000 = 572200

5.941 x 1000 = 5941

10.1 x 10000 = 101000

4.764 x 1000000 = 4764000

5.794 x 1000000 = 5794000

3.271 x 1000 = 3271

4.921 x 10000 = 49210

6.351 x 100 = 635.1

9.026 x 10 = 90.26

Date:

3.522 x 100000 = 352200

9.658 x 1000000 = 9658000

9.591 x 1000 = 9591

3.234 x 100000 = 323400

4.259 x 1000000 = 4259000

4.076 x 1000000 = 4076000

2.795 x 1000000 = 2795000

1.135 x 10000 = 11350

1.43 x 10 = 14.3

3.508 x 1000 = 3508
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